CHESS   Sat  28  August  2004
                               David  Ellis   9276 1822  /  openfile@bigpond.com     2

Diagram 441: White to play & mate in 3 (Pedroche 2002).  Too difficult? Look for clue (*) after WA Champ.report:
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With one round to go in the 2004 WA Championship 5 players remain in contention, Tristan Boyd, defending champion Haydn Barber, Gordon Dunlop (6.5/8), Jay Lakner, Tim Hare (6).  Round 8 saw Tristan draw with Boyd McCamon while Haydn recovered from an inferior position to defeat Stewart Byrne.  Tim Hare’s chances were jolted with an upset loss to Gordon Dunlop, who is assured at least of the Reserves title, while Jay Lakner stayed in contention, defeating Rob Maris. 

* Old Chinese proverb say, ‘To predict the future, you must study the past.’

Rustam Kasimdzhanov’s first tournament after his win in the FIDE World Championship proved a big let down, only managing 6/9 at Vlissingen, Netherlands, a result which does not bode well for his chances against Gary Kasparov.  Here is his last round loss against Indian GM Krishnan Sasikiran:



                   Kasimdzhanov   -   Sasikiran



           Hogelschool Zeeland Tournament 2004



  
      Sicilian: Richter-Rauzer Attack



 1    e4  
c5  


 2    Nf3  
d6



 3    d4  
cxd 


 4    Nxd4  
Nf6



 5    Nc3  
Nc6  


 6    Bg5  
e6



 7    Qd2  
a6  


 8    0-0-0 
Bd7



 9    f3  
Be7  


10   h4  
h6



11   Be3  
h5  


12   Bg5  
Ne5



13   f4  
Neg4


14   Qe1  
Qc7



15   Rh3  
b5  


16   a3  
0-0



17   Be2  
Rfe8  


18   Bxg4  
Nxg4



19   Bxe7  
Rxe7  


20   Rhd3  
d5



21   e5(a)  
Rc8  


22   Qd2  
Qb8



23   Re1(b)  
a5  


24   Nd1  
b4



25   Nf2  
Qb6  


26   Nxg4  
hxg4



27   axb  
axb  


28   Kd1(c)  
Ree8



29   Ree3  
Rc4  


30   b3  
Ra8!



31   Nxe6(d)  
Re4!  


32   Rxe4  
dxe4



33   Rxd7  
Qg1+  


34   Ke2  
Qxg2+



35   Ke3  
Qf3+  


36   Kd4  
fxe6



37   Kc4  
e3  


38   Rd8+  
Rxd8



39   Qxd8+  
Kh7  


40   Qd3+  
Kh6

41 Qd8 & resigns(e)

a) With the kingside blocked White needs to open the centre not close it up; 21 exd5, Qxf4+  22 Kb1 was better (Black cannot play 22...Nf2?  23 Rf3).

b)  To challenge Black’s knight strongly established on its outpost at g4 (Nd1, Nf2) but it takes time.

c)  Running away from the open a file but the king will be unable to find safety.

d)  Taking the rook leads to complete domination by Black (31 bxc4, dxc4) with no loss of material.

e)  41...Qe4+  42 Kc5, Qd5+ & Black will queen the e pawn.

The WA Lightning Championship will be held at Applecross High on Sunday 12 September (not on 5 Sept), 1 – 4.30 pm.  Please phone in entries to Norbert Muller 9409 9579.

SOLUTION:  You must first work out Black’s last move. The only Black piece that could have moved was the f pawn which must have been on f7 (on f6 it would have been checking the White king).  White wins with 1 exf6 ep, gxf6  (1...dxe6  2 f7, e5  3 f8=Q#)  2 Kh6, dxe6  3 g7# - an example of a Retro Analysis Problem. Old Chinese proverb?- no, sorry, I made it up.

